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1  ntw;wpf;F top – 10Mk; tFg;G fzf;F nghJj;Njh;T khjphp tpdhj;jhs; 

 

 
 
 
 

fhy msT :      15 epkplk;+ 3 kzp            nkhj;j kjpg;ngz;fs;: 100 

Time Allowed : 15 min + 3 hrs.                      Maximum Marks : 100 

mwpTiu: (1) midj;J tpdhf;fSk; rupahf mrRg; gjpthfp cs;sjh vd;gij rhpghh;j;Jf;  
          nfhs;sTk;.  mr;Rg;gjptpy; FiwapUg;gpd; miw fz;fhzpg;ghsuplk; cldbahf  
          njuptpf;fTk;  

(2) ePyk; my;yJ fUg;G ikapid kl;LNk vOJtjw;Fk; mbf;NfhbLtjjw;Fk;  
  gad;gLj;j Ntz;Lk;.  glq;fs; tiutjw;F ngd;rpy; gad;gLj;jTk;. 

 

Instructions: (1) Check the question paper for fairness of printing  If there is any lack of fairness, inform 

the Hall Supervisor immediately. 

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams. 

 

Fwpg;G: ,t;tpdhj;jhs; ehd;F gFjpfisf; nfhz;lJ.  Note : This question paper contains four parts. 
 

PART –I / gFjp  - I 

(Marks: 14) / (kjpg;ngz;fs;: 14) 
 

Fwpg;G: (1) ,g;gphptpy; cs;s 14 tpdhf;fSf;Fk; tpilaspf;fTk;.           1 x 14 = 14 

(2) nfhLf;fg;gl;Ls;s ehd;F khw;W tpilfspy; kpfTk; nghUj;jkhd tpiliaj;   

  Njh;e;njLj;J FwpaPl;Lld; tpilapidAk; Nru;j;J vOjTk;. 
 

Note : (i) Answer all the 14 questions                   

(ii) Choose the most suitable answer from the given four alternatives and write the option code 

with the corresponding answer 
 

1.  {(𝑎, 8), (6, 𝑏)} MdJ xU rkdpr; rhu;G vdpy;  𝑎 kw;Wk; 𝑏 kjpg;Gfshtd KiwNa  

  (1) (8,6)    (2) (8,8)    (3) (6,8)    (4) (6,6) 

If {(𝑎, 8), (6, 𝑏)} represents an identity function, then the value of 𝑎 and 𝑏 respectively.   

(1) (8,6)    (2) (8,8)    (3) (6,8)    (4) (6,6) 

2.   𝑓(𝑥)  =  (−1)𝑥 vd;gJ ℕ ypUe;J ℤ f;F tiuaWf;fg;gl;Ls;sJ. vdpy; f d; tPr;rfk; 
 (1) {1}    (2) ℕ    (3) {1, −1}   (4) ℤ 

 Given 𝑓(𝑥)  =  (−1)𝑥  is a function from ℕ to ℤ . Then the range of f   is   

 (1) {1}    (2) ℕ    (3) {1, −1}   (4) ℤ 

3. xU $l;Lj; njhlu;tupirapd; Kjy; cWg;G 1 kw;Wk; nghJ tpj;jpahrk 4 vdpy;> gpdtUk; 
vz;fspy; vJ ,e;jf; $l;Lj; njhlu;tupirapy; mikAk;? 
(1) 4551    (2) 10091   (3) 7881   (4) 13531 

  The first term of an arithmetic progression is unity and the common difference is 4. Which of 

the following will be a term of this A.P. 

(1) 4551    (2) 10091   (3) 7881   (4) 13531 
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2  Way to success – 10th Maths Public Model Question Paper  

 

4. √2 + √8 + √18+. . . . . .. vd;w njhlh;thpirapd; ‘𝑛’ cWg;Gfspd; $Ljy;  

 (1) 
𝑛(𝑛+1)

2
   (2) √𝑛   (3) 

𝑛(𝑛+1)

√2
  (4) 1 

 Sum of first ‘𝑛’ terms of the series √2 + √8 + √18+. . . . . .. is  

 (1) 
𝑛(𝑛+1)

2
   (2) √𝑛   (3) 

𝑛(𝑛+1)

√2
  (4) 1 

5. 
3𝑦−3

𝑦
÷

7𝑦−7

3𝑦2  vd;gJ 

(1) 
9𝑦

7
   (2) 

9𝑦3

21𝑦−21
   (3) 

21𝑦2−42𝑦+21

3𝑦3  (4) 
7(𝑦2−2𝑦+1)

𝑦2  

  
3𝑦−3

𝑦
÷

7𝑦−7

3𝑦2  is  

(1) 
9𝑦

7
   (2) 

9𝑦3

21𝑦−21
   (3) 

21𝑦2−42𝑦+21

3𝑦3  (4) 
7(𝑦2−2𝑦+1)

𝑦2  

6. 𝐴 vd;w mzpapd; tupir 2 × 3> 𝐵 vd;w mzpapd; tupir 3 × 4 vdpy;> 𝐴𝐵 vd;w mzpapd; 
epuy;fspd; vz;zpf;if 

(1) 3   (2) 4    (3) 2   (4) 5 

If 𝐴 is 2 × 3 matrix and 𝐵 is a 3 × 4 matrix, how many columns does 𝐴𝐵 have 

(1) 3   (2) 4    (3) 2   (4) 5 

7.  
𝐴𝐵

𝐷𝐸
=

𝐵𝐶

𝐹𝐷
  vdpy;> 𝐴𝐵𝐶 kw;Wk; 𝐸𝐷𝐹 vg;nghOJ tbnthj;jitahf mikAk;. 

 (1) ∠𝐵 = ∠𝐸  (2) ∠𝐴 = ∠𝐷  (3) ∠𝐵 = ∠𝐷  (4) ∠𝐴 = ∠𝐹 

  If in triangles 𝐴𝐵𝐶 and 𝐸𝐷𝐹, 
𝐴𝐵

𝐷𝐸
=

𝐵𝐶

𝐹𝐷
 then they will be similar, when  

 (1) ∠𝐵 = ∠𝐸  (2) ∠𝐴 = ∠𝐷  (3) ∠𝐵 = ∠𝐷  (4) ∠𝐴 = ∠𝐹 

8.  (4, 𝑝) kw;Wk; (1,0) Mfpa Gs;spfSf;fpilNaahd njhiyT  5 vdpy; 𝑝 = 

(1)±4     (2) 4     (3)−4    (4) 0  

 If the distance between the point (4, 𝑝) and (1,0) is 5, then 𝑝 = 

(1)±4     (2) 4     (3)−4    (4) 0  

9. (2,1) I ntl;Lg; Gs;spahff; nfhz;l ,U Neu;NfhLfs;  

(1) 𝑥 − 𝑦 − 3 = 0, 3𝑥 − 𝑦 − 7 = 0  (2) 𝑥 + 𝑦 = 3, 3𝑥 + 𝑦 = 7  

   (3) 3𝑥 + 𝑦 = 3, 𝑥 + 𝑦 = 7           (4) 𝑥 + 3𝑦 − 3 = 0, 𝑥 − 𝑦 − 7 = 0 

  (2 1) is the point of intersection of two lines  

(1) 𝑥 − 𝑦 − 3 = 0, 3𝑥 − 𝑦 − 7 = 0  (2) 𝑥 + 𝑦 = 3, 3𝑥 + 𝑦 = 7  

   (3) 3𝑥 + 𝑦 = 3, 𝑥 + 𝑦 = 7           (4) 𝑥 + 3𝑦 − 3 = 0, 𝑥 − 𝑦 − 7 = 0 

10. 𝑥 = 𝑎 tan 𝜃 kwWk; 𝑦 = 𝑏 𝑠𝑒𝑐𝜃 vdpy;   

(1) 
𝑦2

𝑏2 −
𝑥2

𝑎2 = 1      (2) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 1     (3) 
𝑥2

𝑎2 +
𝑦2

𝑏2 = 1    (4) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 0 

  If 𝑥 = 𝑎 tan 𝜃  and 𝑦 = 𝑏 𝑠𝑒𝑐𝜃 then  

  (1) 
𝑦2

𝑏2 −
𝑥2

𝑎2 = 1      (2) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 1     (3) 
𝑥2

𝑎2 +
𝑦2

𝑏2 = 1    (4) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 0 

11. 15 nr.kP cauKk; 16nr.kP tpl;lKk; nfhz;l xU Neu;tl;lf; $k;gpd; tisgug;G 

 (1) 60𝜋 𝑐𝑚2  (2) 68𝜋 𝑐𝑚2  (3) 120𝜋 𝑐𝑚2  (4) 136𝜋 𝑐𝑚2 

  The curved surface area of a right circular cone of height 15 𝑐𝑚 and base diameter  16 𝑐𝑚 is 

 (1) 60𝜋 𝑐𝑚2  (2) 68𝜋 𝑐𝑚2  (3) 120𝜋 𝑐𝑚2  (4) 136𝜋 𝑐𝑚2 
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3  ntw;wpf;F top – 10Mk; tFg;G fzf;F nghJj;Njh;T khjphp tpdhj;jhs; 

12. xU miuf;Nfhsj;jpd; tisgug;G mjd; Muj;jpd; th;ffj;jpw;F vj;jid klq;F rkk;?  

(1) π    (2) 2π    (3) 3π    (4) 4π 

      The curved surface area of a hemi-sphere is how much times the square of its radius 

(1) π    (2) 2π    (3) 3π    (4) 4π 

13. 100 juTg; Gs;spfspd; ruhrup 40 kw;Wk; jpl;ltpyf;fk; 3 vdpy;> tpyf;fq;fspd; tu;f;ff; 
$LjyhdJ   
(1) 40000    (2) 160900    (3) 160000  (4) 30000 

  The mean of 100 observations is 40 and their standard deviation is 3. The sum of squares of 
all deviations is 
(1) 40000    (2) 160900    (3) 160000  (4) 30000 

14. 𝑝 rptg;G> 𝑞 ePy> 𝑟gr;ir epwf; $ohq;fw;fs; cs;s xU FLitapy; ,Ue;J xU rptg;G 
$ohq;fy; vLg;gjwfhd epfo;jfthdJ   

(1) 
𝑞

𝑝+𝑞+𝑟
   (2) 

𝑝

𝑝+𝑞+𝑟
  (3) 

𝑝+𝑞

𝑝+𝑞+𝑟
  (4) 

𝑝+𝑟

𝑝+𝑞+𝑟
 

  The probability a red marble selected at random from a jar containing 𝑝 red, 𝑞 blue and 𝑟 
green marbles is 

(1) 
𝑞

𝑝+𝑞+𝑟
   (2) 

𝑝

𝑝+𝑞+𝑟
  (3) 

𝑝+𝑞

𝑝+𝑞+𝑟
  (4) 

𝑝+𝑟

𝑝+𝑞+𝑟
 

 

PART -II / gFjp – II 
(Marks: 20) / (kjpg;ngz;fs;: 20) 

     

II. 10 tpdhf;fSf;F klLk; tpilaspf;fTk;. 28tJ tpdhtpw;F fl;lhakhf tpilaspf;f Ntz;Lk; 
Answer 10 questions. Question No. 28 is compulsory.        10 x  2 = 20 

15.  𝐴 = {−2, −1, 0, 1, 2}  kw;Wk; 𝑓: 𝐴 → 𝐵 vd;w rhh;ghdJ 𝑓(𝑥) = 𝑥2 + 𝑥 + 1 Nky; rhh;G vdpy;>  𝐵I fhz;f. 
  If 𝐴 = {−2, −1, 0, 1, 2} and 𝑓: 𝐴 → 𝐵 is an onto function defined by 𝑓(𝑥) = 𝑥2 + 𝑥 + 1 then find 𝐵. 
16. −2, −4, −6, … . −100 vd;w $lLj; njhlutupirapy; ,Wjp cWg;gpypUe;J 12tJ cWg;igf; 

fhz;f.  
  Find the 12th term from the last term of the A.P −2, −4, −6, … . −100 

17. 13 + 23 + 33 + ⋯ 𝑘3 = 16900 vdpy;    1 + 2 + 3 + ⋯ + 𝑘 d kjpg;G fhz;f. 

  If 13 + 23 + 33 + ⋯ 𝑘3 = 16900 then find 1 + 2 + 3 + ⋯ + 𝑘 

18. jPu;f;f 2𝑚2 + 19𝑚 + 30 = 0 
Solve 2𝑚2 + 19𝑚 + 30 = 0 

19. 𝐴 = [
1 −1
2 3

], vdpy;  𝐴2 − 4𝐴 + 5𝐼2 = 0 vd ep&gpf;f.   

  If 𝐴 = [
1 −1
2 3

], show that 𝐴2 − 4𝐴 + 5𝐼2 = 0    

20. xU kdpjd; 18 kP fpof;Nf nrdW gpd;du; 24kP tlf;Nf nry;fpwhd;. njhlff epiyapypUeJ 
mtu; ,Uf;Fk; njhiyitf fhz;f  

 A man goes 18 m due east and then 24 m due north. Find the distance of his current position 
from the starting point? 

21. 3𝑥 + 4𝑦 = 7 kwWk; 9𝑥 + 12𝑦 − 3 = 0 Mfpa Neh;f;NfhLfs; ,iz vdf; fhl;Lf.  

   Show that the straight lines 3𝑥 + 4𝑦 = 7 and 9𝑥 + 12𝑦 − 3 = 0 are parallel.  

22. √
1+cos 𝜃

1−cos 𝜃
= 𝑐𝑜𝑠𝑒𝑐 𝜃 + cot 𝜃 vd;gij ep&gpffTk;. 

  Prove that √
1+cos 𝜃

1−cos 𝜃
= 𝑐𝑜𝑠𝑒𝑐 𝜃 + cot 𝜃 
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23. xU rpWkpapd; cauk; 1.2kP MFk;. 88.2 kP cauj;jpy; fpilkl;lkhf fhw;wpy; efUk; gY}id 

mts; jiuapy; epd;wthW ghu;f;fpwhs;. xU Gs;spapy; gY}dpd; Vw;wf;Nfhzk; 600. rpwpJ 
Neuj;jpy; kw;nwhU Gs;spapy; gY}dpd; Vw;wf;Nfhzk;  300 Mff; FiwfpwJ. ,e;j 
,ilntspapy; gY}d; fle;j J}uj;ijf; fhz;f. 
A 1.2m tall girls spots a balloon moving with the wind in a horizontal line at a height of 88.2m 

from the ground. The angle of elevation of the balloon from the eyes of the girl at an instant is 

600. After some time the angle of elevation reduces to 300. find the distance travelled by the 
balloon during the interval.  

24. rhAauk; 19nr.kP nfhz;l $k;G tbtf; $lhuj;jpy; ehy;tu; cs;sdu;. xUtUf;F 22r.nrkP 
gug;G Njit vdpy;> $lhuj;jpd; cauj;ijf; fzf;fplTk;.  

 4 persons live in a conical tent whose slant height is 19cm. If each person require 22𝑐𝑚2 of 

the floor area, then find the height of the tent.   

25.88r nr kP tisgug;Gila xU Neu;tl;l cUisapd; cauk; 14nr.kP vdpy;> cUisapd; 
tpl;lk; fhz;f.   

 The curved surface area of a right circular cylinder of height 14 𝑐𝑚 is 88 𝑐𝑚2. Find the 
diameter of the cylinder. 

26. 20 juTg; Gs;spfs; nfhLf;fg;gl;l tptuj;jpd; jpl;ltpyffk; √6 MFk;  xt;nthU juTg; 
Gs;spAk; 3My; ngUf;fggl;lhy; fpilf;Fk;. juTg; Gs;spfspd; jpl;ltpyf;fk; kw;Wk; tpyf;f 
tu;f;fr; ruhrup fhz;f. 

 The standard deviation of 20 observations is √6. Is each observation is multiplied by 3, find 
the standard deviation and variance of the resulting observations   

27. epfo;r;rp 𝐴-f;fhd epfo;jfT 0.5 kw;Wk;  𝐵-f;fhd epfo;jfT 0.3. 𝐴 kw;Wk; 𝐵 Mfpait 
xd;iwnahd;W tpyf;Fk; epfo;r;rpfs; vdpy;> 𝐴-k; 𝐵-k; epfohky; ,Ug;gjw;fhd epfo;jfitf; fhz;f. 

   The probability of happening of an event 𝐴 is 0.5 and that of 𝐵 is 0.3. If 𝐴 𝑎𝑛𝑑 𝐵 are mutually 
exclusive events, then find the probability that neither 𝐴 𝑛𝑜𝑟 𝐵 happen. 

28. 𝑓 MdJ 𝑅 ypUe;J 𝑅 f;F Md rhh;G. NkYk; mJ 𝑓(𝑥) = 3𝑥 − 2 vd tiuaWf;fg;gLfpwJ. 
(𝑎, 4)  kw;Wk; (1, 𝑏) vdf nfhLf;fg;gl;lhy; 𝑎 kw;Wk; 𝑏 apd; kjpg;Gfisf; fhz;f.  

 Let  𝑓 be a function from  𝑅  to 𝑅 defined by 𝑓(𝑥) = 3𝑥 − 2.  Find the value of  𝑎 and  𝑏  given 

that  (𝑎, 4) and (1, 𝑏)  belong to 𝑓. 

PART -III / gFjp- III 

(Marks: 50) / (kjpg;ngz;fs;: 50) 
                  

III. 10 tpdhf;fSfF kl;Lk; tpilaspf;fTk;. 42 tJ tpdhtpwF fl;lhakhf tpilaspf;f Ntz;Lk; 
Answer 10 questions.  Question No. 42 is compulsory.          10 x 5 = 50 

 

29. 𝑓: ℝ → ℝ  kw;Wk;  𝑔: ℝ → ℝ MdJ KiwNa   𝑓(𝑥) = 𝑥5 𝑔(𝑥) = 𝑥4  vd tiuaWf;fg;gl;lhy;>  
𝑓, 𝑔 Mfpait xd;Wf;F xd;whdjh kw;Wk; 𝑓 ∘ 𝑔 xd;Wf;F xd;whd rhu;ghFkh vd;W Muha;f 

 If 𝑓: 𝑅 → 𝑅 and 𝑔: 𝑅 → 𝑅 are defined by 𝑓(𝑥) = 𝑥5 and 𝑔(𝑥) = 𝑥4 then check if 𝑓, 𝑔 are one-

one and 𝑓 ∘ 𝑔 is one-one?   

30. 𝐴 = {𝑥 ∈ 𝑊/0 < 𝑥 < 5},      𝐵 = {𝑥 ∈ 𝑊/0 ≤ 𝑥 ≤ 2},      𝐶 = {𝑥 ∈ 𝑊/𝑥 < 3} vdpy;  
      𝐴 × (𝐵 ∩ 𝐶) = (𝐴 × 𝐵) ∩ (𝐴 × 𝐶) Ir; rhpghh;;f;f.   
 Let  𝐴 = {𝑥 ∈ 𝑊/0 < 𝑥 < 5},  𝐵 = {𝑥 ∈ 𝑊/0 ≤ 𝑥 ≤ 2},  𝐶 = {𝑥 ∈ 𝑊/𝑥 < 3} then verify that  

      𝐴 × (𝐵 ∩ 𝐶) = (𝐴 × 𝐵) ∩ (𝐴 × 𝐶) 

31. 5 + 55 + 555 +…. vd;w njhlh;thpirapd; Kjy; 𝑛 cWg;Gfspd; $Ljy; fhz;f . 

Find the sum to 𝑛 terms of the series 5 + 55 + 555 +….  
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5  ntw;wpf;F top – 10Mk; tFg;G fzf;F nghJj;Njh;T khjphp tpdhj;jhs; 

32. xU epWtdk; 25 njUffspy; nrbfis el jpllkpl;lJ. Kjy; njUtpy; 1 nrbAk;> 
,uz;lhtJ njUtpy; 3 nrbAk;> %d;whtJ njUtpy; 9 nrbAk; el KbT nra;ag;gl;lJ. 
,tNtiy epiwtila vj;jid nrbfs; Njit? 

An organization plans to plant saplings in 25 streets in a town in such a way that one sapling 
for the first street, three for the second, nine for the third and so on. How many saplings are 
need to complete the work?   

33. 16𝑥4 − 24𝑥3 + (𝑎 − 1)𝑥2 + (𝑏 + 1)𝑥 + 49 vd;gJ xU KO tu;f;fk; vdpy; 𝑎 kw;Wk; 𝑏 
Mfpatw;wpd; kjpg;Gfisf; fhz;f.   

Find the values of  𝑎 and  𝑏 if  16𝑥4 − 24𝑥3 + (𝑎 − 1)𝑥2 + (𝑏 + 1)𝑥 + 49 is a  perfect square  

34. 𝐴 = [
4 3 1
2 3 −8
1 0 −4

] 𝐵 = [
2 3 4
1 9 2

−7 1 −1
] kw;Wk; 𝐶 = [

8 3 4
1 −2 3
2 4 −1

] vdpy;>  

   𝐴 + (𝐵 + 𝐶) = (𝐴 + 𝐵) + 𝐶 vd;gijr; rupghu;f;f. 

  If 𝐴 = [
4 3 1
2 3 −8
1 0 −4

] , 𝐵 = [
2 3 4
1 9 2

−7 1 −1
] and 𝐶 = [

8 3 4
1 −2 3
2 4 −1

]then verify that     

       𝐴 + (𝐵 + 𝐶) = (𝐴 + 𝐵) + 𝐶 

35. ∆𝐴𝐵𝐶 –apy; 𝐶 MdJ nrq;Nfhzk; MFk;. gf;fq;fs; 𝐶𝐴 kw;Wk; 𝐶𝐵-apd; eLg;Gs;spfs; 

KiwNa 𝑃 kw;Wk; 𝑄 vdpy; 4(𝐴𝑄2 + 𝐵𝑃2) = 5𝐴𝐵2 vd epWTf. 

   𝑃 and 𝑄 are the mid-points of the sides 𝐶𝐴 and 𝐶𝐵 respectively of a ∆𝐴𝐵𝐶, right angled at 𝐶. 

Prove that 4(𝐴𝑄2 + 𝐵𝑃2) = 5𝐴𝐵2. 

36. 12𝑦 = −(𝑝 + 3)𝑥 + 12,12𝑥 − 7𝑦 = 16 Mfpa Neu;NfhLfs; xd;Wf;nfhd;W nrq;Fj;J vdpy; 
‘𝑝’ -apd; kjpg;igf; fhzf. 

 If the straight lines 12𝑦 = −(𝑝 + 3)𝑥 + 12,12𝑥 − 7𝑦 = 16 are perpendicular then find 𝑝. 

37. xU njUtpy; cs;s xU tPl;bd; rd;dypypUe;J> (rd;dy; jiuf;F Nky; ℎ kP cauj;jpy; 
cs;sJ) njUtpd; vjpu;g; gf;fj;jpy; cs;s kw;nwhU tPl;bd; cr;rp> mb Mfpatw;wpd; 
Vw;wf;Nfhzk;> ,wf;ff;Nfhzk; KiwNa 𝜃1 kw;Wk; 𝜃2 vdpy;> vjpu;g;gf;fj;jpy; mike;j tPl;bd; 

cauk; ℎ (1 +
cot 𝜃2

cot 𝜃1
) vd ep&gpf;f.  

  From a window (ℎ metres high above the ground) of a house in a street, the angles of elevation 
and depression of the top and the foot of another house on the opposite side of the street are 

𝜃1 and 𝜃2 respectively. Show that the height of the opposite house is ℎ (1 +
cot 𝜃2

cot 𝜃1
).  

38. 700 kP cauj;jpy gwe;Jf;nfhz;bUf;Fk; xU n`ypfhg;lhpypUe;J xUth; Xh Mw;wpd; ,U  

   fiufspy; Nenujpuhf cs;s ,U nghUl;fis 300>450 ,wf;ff; Nfhzq;fspy; fhz;fpwhh; 
vdpy;> Mw;wpd; mfyj;ijf; fhz;f   (√3 = 1.732)                                                                                

  A person in an helicopter flying at a height of  700m, observes two objects lying opposite to 
each other on either bank of a river. The angles of depression of the objects are 30° and 45°. 

Find the width of the river. (√3 = 1.732)                                                                                   

39. 12 nr.kP tpl;lKk; 15 nr.kP cauKk; nfhz;l Neh;tl;l cUis KOtJk; gdpf;$opdhy; 
(ice cream) epug;gg;gl;Ls;sJ. ,g;gdpf;$ohdJ 6 nr.kP tpl;lKk;> 12 nr.kP cauKk; nfhz;l 
Nkw;Gwk; miuf;Nfhsk; ,ize;j tbtpyike;j $k;gpy; epug;gg;gLfpwJ. vj;jid $k;Gfspy; 
gdpf;$opid KOtJkhf epug;gyhk; vdf; fhz;f.  
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